
Фамилия имя, класс____________________________________________________________________

	Задание 1. Прочитайте слова, расположенные в строчках 1-8.  В каждой строке1-8 выберите одно лишнее слово. Занесите  свои ответы в таблицу.


1) competition, championship,  match,  coach
2) competitor,  referee,  opponent,  athlete
3) sailing,  snowboarding,  snorkeling,  windsurfing
4) a pitch,  a court,  a track,  a pool
5) goal,  goalkeeper,  penalty,  a stick
6) skiing,  skating,  horse riding,  golf
7) baseball,  table tennis,  squash,  diving
8) spectators,  crowd,  competitors, supporters
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	Задание 2.    Прочитайте текст с пропусками 1-9. В каждый пропуск 1-9, впишите наиболее подходящий вариант ответа A, B, C или D.  Занесите свои ответы в таблицу.   


The joy of photography
Photography is a hobby with wide (1)_____ . And I don't mean taking photos on your mobile phone,
though it cannot be (2)_____ that such pictures can be surprisingly good these days. Serious
photography means taking the (3)_____ to do some research, exploring the technical (4)______ of
the subject and investing in what might be quite expensive equipment. So why take up photography? Firstly,
it allows you to (5)_____ special moments that you want to remember forever. In addition, it (6)_______
your imagination because you are always in search of ideas for original and out of the ordinary photos.
However, a lot of practice is required before you (7) ______to take really good pictures on a regular
basis. When you finally do it, it will be a (8)______ of great satisfaction for you. Photography can also
transform the way you look at the world. You start to see details that in the past you used to miss
(9)_______ . All in all, it's a highly absorbing hobby.
	1
	A taste 
	B appeal
	C interest
	D attraction

	2
	A rejected 
	B contradicted
	C denied
	D refused

	3
	A trouble 
	B care
	C effort
	D concern

	4
	A characteristics 
	B forms
	C qualities
	D aspects

	5
	A seize 
	B capture
	C grab
	D catch

	6
	A motivates 
	B renews
	C stimulates
	D reacts

	7
	A manage 
	B succeed
	C achieve
	D reach

	8
	A reason 
	B cause
	C source
	D means

	9
	A utterly 
	B completely
	C fully
	D absolutely
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	Задание 3. Прочитайте текст с пропусками 1-9. Подберите к каждому пропуску 1-9 наиболее подходящее слово по смыслу. Занесите  свои ответы в таблицу.


Running a marathon
So you want to run a marathon? There is (1)_____ doubt that running 42 kilometres is a great achievement. Many training plans involve running four times a week for at (2)_____ three months, and sometimes longer. Experts strongly recommend that you should (3)______ used to running long distances gradually. If you don’t, it can increase the chances (4)______ picking up an injury. It (5)______ generally thought that runners should initially go on fairly relaxed training runs. The pace should be gentle enough to allow you 
(6)_______ have a conversation with someone running alongside you. Don’t make the mistake of eating too little before the race, or you will rapidly run (7)_______ of energy. But (8)_______ should you eat a large meal. It goes without saying that choosing the right footwear is also essential. (9)________ you do, avoid clothes made of cotton and go for artificial materials, or even some types of wool such as merino. Choose clothing that will be comfortable.
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	Задание 4. Прочитайте приведённый ниже текст. Образуйте от слов, напечатанных заглавными буквами в конце строк, обозначенных номерами 1—9, однокоренные слова так, чтобы они грамматически и лексически соответствовали содержанию текста. Свои ответы занесите в бланк ответов.


Lake Titicaca
Lake Titicaca is the largest lake in South America with the 1)________of Lake                     EXCEPT
Maracaibo in Venezuela, which unlike Titicaca is connected directly to thesea.
 It is 190 kilometres long and reaches a maximum 2)__________ of284 metres.                     DEEP
Approximately 60 per cent of the lake lies in Peru and the rest in Bolivia.
The lake is famous for a variety of 3)_________wildlife, including a giant frog                     USUAL
 that can weigh up to three kilogrammes. Some animals in the lake are 4)________              DANGER
 species, which led to the5)__________ of Titicaca National Reserve in 1978.                    ESTABLISH
The protection of thewildlife is guaranteed, and so is the beautiful scenery that makes 
a visit to the lake so 6)__________ . There are numerous islands on the lake,                         FORGET
although not all are 7)__________ to tourists.                                                                           ACCESS
The 8)_________ of some of the islands are known as the Uros people, who still                   INHABIT
 maintain their traditional way of life, but at the same timewelcome visitors. 9)_______ ,        SURPRISE
this beautiful lake is often ignored by tourists.
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	Задание 5.    Прочитайте предложения с пропусками 1-7. Вставьте в каждый пропуск фразовый глагол из предложенного списка a-g.  Свои ответы занесите в бланк ответов.



	1. Marlon Brando will ________ in history as one of the greatest actors of all time.
	a) named after

	2. Our class is going to __________ a play at the end of term.
	b) let down

	3. I didn't really like Madonna's new single when it came out, but it's starting to ___________ me now.
	c) go down

	4. Did you know that the sandwich is _________ the Earl os Sandwich?
	d) taken off

	5. The band have really _______ since appearing on the Video Music Awards show last month.
	e) grow on

	6. The Eurovision Song Contest is ________ again soon. Shall we organise a Eurovision party?
	f) put on

	7. I felt completely ________ when he refuse to give me his autograph. I'm never going to buy another one of his CDs!
	g) come (a)round
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	Задание 6.    Прочитайте текст с пропусками, обозначенные 1-6. Для каждого пропуска 1-6 выберите наиболее подходящий вариант A-G.  Занесите свои ответы в таблицу.   


Tree of the Year
        The aim of the national Tree of the Year competition is to promote and celebrate the most interesting trees around the country. Images and descriptions of a shortlist of 28 trees are put online and the public are
asked to vote for their favourite.
        The four trees that gain the most votes before 5 p.m. on 5th October will be given a grant of Ј1,000. In addition, all trees that receive 1,000 or more votes will get a grant of Ј500. The grants may be spent on a tree health check or advice from a tree expert, or an educational event, for example. 1________.
        Among the 28 shortlisted trees there are a wide range of tree species, each with its own unique, fascinating story. For example, the ‘Ding Dong’ tree is a copper beech tree growing in a primary school playground. It was named the ‘Ding Dong’ tree because of a game pupils invented in which they race to touch its trunk, shouting ‘Ding Dong!’ The protective space underneath the 50-year-old tree is used as a magical outdoor classroom, while the indoor classroom displays pictures of the tree through each season of the year. 2________.
        Many of the other trees in the competition are remarkable for their age alone. The Craigends Yew, for
example, is thought to be up to 700 years old, making it one of the oldest in Scotland. It is an amazing sight
as many of its branches have layered. 3________.  As a result of these extra growths, the total size when
measured around the tree’s crown (the main body of its leaves and branches) is a massive 100 metres.
Another very old tree, the Holm Oak in Kilbroney Park, Northern Ireland, is much loved by local people. It
measures 3.6 metres around the trunk, and its beautiful bark looks like the skin of a snake. 4________.
The advantage of this lack of uprightness is that young children can climb safely and easily on it. Kilbroney Park is home to many remarkable trees, but this tree was chosen as the favourite by community members.
        A 500-year-old veteran oak tree stands in the ancient woodland pasture at Carngafallt in Wales. One of the interesting things about this twisted, hollow tree is that it has several ‘air trees’ growing out of it. An ‘air tree’ is one growing without its roots touching the ground. 5_________.  It extends its roots down inside the
oak’s hollow trunk.
       The original Bramley apple tree in Nottinghamshire is younger than many in this competition, but is
the famous parent of all modern Bramley apple trees. 6________.  Many years later, Matthew Bramley, the new owner of the tree, was carrying some of his fruit when he met a gardener called Henry Merryweather. Henry asked if he could take some cuttings from Matthew’s trees to grow his own trees. Mr Bramley agreed, provided they were named ‘Bramley’s Seedling’.

A This means that they are touching the ground and have taken root.
B These roots have become enormous with age and have now emerged above the ground. Children love to jump over them like horses in a race.
C But the most distinctive thing about this tree is that its main trunk is leaning towards the ground at an
angle of 45 degrees.
D The best example of this on the big old tree is another species of tree called a rowan.
E Alternatively, they could be used to hold a community event in honour of the tree.
F It was planted from a seed in 1809 by a woman called Ann Brailsford.
G Children hang bird feeders from its branches and it is used as the focus of many of the educational activities going on around it.
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	Задание 7.    Прочитайте предложения 1-7. Дополните второе предложение так, чтобы его значение осталось одинаковым с первым предложением, используя данное слово. Не изменяйте данное слово. Вы должны использовать от двух до пяти слов, включая данное. Свои ответы занесите в бланк ответов.



[bookmark: _GoBack]1) It is common knowledge that a lot of chemicals used in industry harm the environment.          CAUSE
It is common knowledge that industrial chemicals ___________________ to the environment.
2) It cannot be denied that humanity has a negative effect on the environment.                             IMPACT
It is hard to deny that humans __________________ the environment.
3) There are many organizations dedicated to conservation of the environment.                           PROTECT
There are many organizations whose aim is ______________ the environment.
4) Over the past 100 years, because of global warming, the sea level has dramatically risen.            DUE
Over the past 100 years, _________ global warming, the sea level has dramatically risen.
5) Small particles of plastic in the sea become a hazard for marine wildlife.                                   THREAT
Small particles of plastic in the sea _____________ wildlife.
6) Their family decided to join the city waste sorting program.                                                         MIND
Their family ___________ to join the city waste sorting program.
7) It is believed that traditional tourism has only negative impact on natural environment.        INFLUENCE
It is believed that traditional tourism _____________ natural environment.
	1) 
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	Задание 8.  Прочитайте предложения с пропусками 1-12. Для каждого предложения выберите наиболее подходящий варианта из рамочки.  Занесите свои ответы в таблицу.   



	
	AIR POLLUTION - AVERAGE TEMPERATURE - BECOME EXTINCT - CARBON FOOTPRINT - ENVIRONMENT - FOSSIL FUEL - GREENHOUSE GAS - OXYGEN - RENEWABLE - SEA LEVEL - SOLAR - THREATEN - WASTE 






 1. Carbon dioxide is one of the _______________ that leads to global warming. 
2. _____________, like coal and oil, must be reduced if we want to save our ___________ . 
3. When polar ice caps melt ______________ will rise and many areas will be flooded. 
4. The existence of the rainforest is ____________ by companies that cut down trees. 
5. Examples of ____________________ energy are wind and solar power. 
6. Many animals will _______________ if we don’t save them. 
7. We should try to recycle our _________________ and try not to use too much packaging. 
8. __________________ will go up by up to 4° by the end of the century. 
9. The ________________ tells you how much how much carbon dioxide you produce with your activities. 
10. The population in big cities suffer from __________________, caused by factories and cars. 
11. Trees in the tropical rainforest produce much ______________ that we need to breathe. 
12. More and more people are putting _______________ panels on their roofs. 
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